Chapter 7 Worksheet #1
Balancing Chemical Equations

Balance the equations below:

1) N2 + Ha 2> NH3

2) ___KCIOs>__ _KCl+__ 02

3) ___NaCl+__ _F2=>___ NaF+___ Cl

4) _ He+_ OC2->__ HO

5) __Pb(OH)2+__ _HCI=> __ HO+___ PbCl
6) _ ABra+_ KeSOs=>__ KBr+__ Al(SOu4)3
7) _ CHst+t___C2>__ CO2+___ H0

8) _ CsHs+ C2-> CO2+____ H20

?) __ CsHis+ 02> CO2+___ H20

10) ___ _FeClk+__ NaOH-> ___ Fe(OH)s+___ NaCl

1) P+ O2-> P20s

12)  ____Na+___ _HXO->__ NaOH+__ H:

13) ____Ag0-=>___ Ag+__ O

14)  __ _Ss+___O2>__ SO

15) _ CO2+__ _HO>___ CeHiO¢+___ O2

16) __ K+ __ MgBrz> KBr + Mg

17) __HCl+__CaCO3=>__ CaCk+__ HO0+__ CO2

18) __ HNOs+__ NaHCO3z=> __ NaNOsz+__ HO+__ COq
19)  ___ _HO+___02->___ HO2

20) _ NaBr+__ CaF:=> ___ NaF+__ CaBn

21) H2SOs + NaNOz2 - HNO:2 + NazSO4



Balance the following reactions and identify the type of reaction each represents.

1)

Balancing Reactions Worksheet

PbO; = PbO + O,

Al+ HCI = AICIL; + H,

Fey(SO4); + Ba(OH); = BaSO, + Fe(OH);

Al+ CuSOy4 =2 Al(SOy); + Cu
KCl10; =2 KCl + O,

Mg + N, 2 Mg;N,

FeCl, + NazPOy = Fe3(POy); + NaCl
HgO = Hg + O,

CaSO0, ‘- 2H,0 - CaS0O, + H,0
Bi(NO;); + NaOH - Bi(OH); + NaNO;
FeS + HBr = FeBr; + H,S

Zn(OH); + H,SO4 2 ZnSO4 + H,O
P,0s+ H,0 =2 H3PO4

Cal; + H,SO4 = HI + CaSOy

Al+ Cl, =2 AICl;



